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QUESTION 1

Which statement is correct about CSO? 

A. CSO is a complete orchestration system and can replace OpenStack 

B. CSO has a gateway component and can be used to connect data centers 

C. CSO can be used to establish and monitor LSPs in a service provider network 

D. CSO can be used to manage VNFs at service provider\\'s customer site 

Correct Answer: D 

 

QUESTION 2

What are two different modes available for the vMX on KVM that are based on CPU and memory availability? (Choose
two) 

A. Performance 

B. Basic 

C. Lite 

D. Enhanced 

Correct Answer: AC 

 

QUESTION 3

AppFormix has been deployed in your data center using the Juniper Telemetry Interface(JTI) native sensors. However,
the underlay devices have not yet been set up to work with the JTI native sensors. Which action is required for the JTI
native sensors to work properly? 

A. Install the AppFormix network agent on the underlay devices 

B. Enable NETCONF over SSH on the underlay devices 

C. Enable SSH on the underlay devices 

D. Enable GPB messaging on the underlay devices 

Correct Answer: D 

 

QUESTION 4

Which statement is correct about overlay network? 
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A. An overlay network requires an OSPF areA. 

B. An overlay network must have switches interconnected in a spine- leaf implementation 

C. An overlay network uses tunneling technologies 

D. An overlay network requires the CLOS architecture 

Correct Answer: C 

 

QUESTION 5

Which open source management framework does VMware NSX use to manage VXLANs on Junos device? 

A. OVSDB 

B. Contrail networking 

C. OpenFlow 

D. OpenConfig 

Correct Answer: A 
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